AL-TADAAMUN WATAKAAFUL CHARITY ORGANIZATION



هيئة التضامن والتكافل الخيرية

AL-TADAADUMUN WATAKAAFUL CHARITY ORGANIZATION (TTCO)

FUNDING PROJECT PROPOSAL

Project Proposal for Food Supply to the Raywan Mental Hospital

HARGEISA, SOMALIA

2020

Al-Tadaamun WaTakaaful Charity Organization (TTCO)

PROJECT PROPOSAL FOR FOOD ASSISTANT TO RAYWAN MENTAL HOSPITAL

Country:	Somalia				
Organization:	Al-Tadaamun WaTakaaful Charity Organization (TTCO)				
Project title:	Supporting of mental disabled people that affected by COVID-19				
	food insecurity.				
Sector:	Food Security and Livelihoods				
Objectives:	Overall objective: improve food security and sustainable livelihoods of vulnerable, mental disabled people in which their families are unable to overcome food prices in Somalia and band				
	 Specific objectives: Strengthen the food security status of 300 vulnerable households that affected by the inflation of food price during COVID-19 Support mental disabled people in Raywan Mental Hospital Giving food to the hospital to left food insecurity in the hospital Supporting PPE to the hospital and patient cares against COVID-19 				
Beneficiaries:	300 mental disabled patients				
Implementing partners:	artners: Society for Animal and Range Development				
Project duration:	tion: 6 months				
Total project budget:	\$48,804 USD				
Organizational address:	Hargeisa, Somalia				
	Baligubadle Road,				
	Email: tadaamun1@gmail.com				
	Tell: +252 63 4145 022				
Project Leader	Dr. Ridwan Osman Mohamed				
	Email: ridwaanmohamed5@gmail.com				
	Tell: Tell: +252 63 4145 022				

Organizational Background

Al-Tadaamun WaTakaaful Charity Organization (TTCO) is humanitarian, Non Governmental, non-partisan and none profit making Organization working since 2017 that is registered under Somalia government. The organization operates in Maroodi-jex region. Its major goal is to support the mental sick people, poor families and orphan children, whom there their brain loss and damaged, their hope loss and their parents died to rebuild their live and happiness. The TTCO organization is handling Raywan Mental Hospital which has been established 2007 and handled TTCO since 2017, while it require helps to the mental disable people and still handling the same work, now 300 patients for from different cities of Somalia are caring and hospitalizing the and sum of 13,100 patient get mental recovery, cease kat and substance abuse and came back to their live, families, work and happiness. Those hospitals are doing an effective work to mental disabled people while mental patients needs regular funding mental drugs, food and bedding services., while TTCO is ready to will implement community based rehabilitation and development interventions targeting the orphans within the communities and concurrently affected by the natural disasters, poverty and malnutrition.

Project Summary

This project will build extension of Raywan Mental Hospital in Hargeisa, Somalia, for helping the mental ill people that affected by wars, Kat, substance abuse and family problems. And hospital supporting and hosting 300 patients for from different cities of Somalia by caring and hospitalizing and sum of 13,100 patients get mental recovery. During hospital treatment and care they also provide by lessons and training to build their lives back to normal after the hospital. The hospital is going to respond food insecurity that faced mental disabled people during COVID-19. 300 patients will be supporting three months of food to assist and support them the tackling of food shortage, insecurity and inflations. Also medical equipments and medical drugs include the project.

Needs

Over 80 percent of Somalia's vulnerable mental disabled people live in outside and outdoors and streets. TTCO is now handling the Raywan Mental Hospital hosting and handling 300

patients 223 men and 77 women. Hospital is caring and treating patients during this emergent condition of COVID-19 with inflated food price, shortage and insecurity. Regular occurrences of natural disasters have led to conditions of food insecurity, which have been aggravated by soaring prices of food, agricultural inputs and fuel, mainly affecting the vulnerable poor mental disabled people.

In Waqooyi-galbeed region a deterioration of the food security is caused by a combination of factors: poor farm product production, resulting in extremely low cereal production; poor pasture and livestock body conditions as well as; reduced livestock number, increasing food prices, hence decreased incomes from livestock and livestock product sales; declined farm labor opportunities for poor agro-pastoralists and soaring local cereal prices. This pandemic disease majorly affected to mental disabled people in the hospital during food crises. As a result of soaring prices, decreasing number of agricultural outputs are becoming unaffordable, culminating in increased food insecurity and vulnerability.

Activities

TTCO's project has been providing food assistant to food security mental disabled people in Somalia including delivery of food to the hospital to assist the inflation of food prices during the emergent condition of the COVID-19.

The food insecurity reduction activities are also being promoted to improve food hygiene and sanitation to reduce the risk of being infecting to the disease.

The proposed project activities to assist in sustainable and assistant of food to the hospital include:

- 1. identification of stakeholders and beneficiaries in the hospital
- 2. participatory procurement and distribution of food assistant to include:
 - Supply of rice, paste, food oil, flour, sugar and medical PPE and medical drugs.
 - Agricultural products including varieties of maize, sorghum, red beans and white beans.
 - This food will cover in a period of three months amid the COVID-19 pandemic

Justification of the project

The funding requested will go a long way in supporting mental disabled people to accelerate the response initiated by TTCO to empower food supply to the Raywan Mental Hospital. This project will promote the sustainable and food security during the emergent condition of COVID-19. The funding will address the funding gap of shortage of food and the inflation of food prices in the earlier of the condition. This project will further including women and men in the hospital to get food because the relatives of mental disable people are unaffordable to give them food. The project will also target the most vulnerable groups (women headed household, elderly of 65 above years, child headed household of 15 to 18 years, disabled, Gender based violence survivals (GBV), chronically sick), IDPs who will be prioritized in the selection and also the vulnerable host community.

The food security and livelihood intervention endeavors ease access to basic food and reduce hunger among vulnerable children, women and men who are badly affected by mental illness in County. TTCOs current project has already enabled significant improvement to food security and strategies proposed in this proposal will continue to effectively augment the support to the emergency of the local food economy, while paying special attention to the people hosting the hospital. TTCO has viable working relationship with the government, NGOs an Community Clusters in supporting the food security and livelihood in Somalia.

Project financial budget

No.	Item	Quantity	Price item (\$)	Total cost (\$)
1.	Rice	300	16	4,800
2.	Spaghetti paste	300	10	3,000
3.	Spaghetti macaroni	300	10	3,000
4.	Flour	300	12	3,600
5.	Sugar	300	15	4,500
6.	Food oil	300	6	1,800
7.	PPE and medical drugs and	300	10	3,000

	materials			
8.	Maize	50	11	550
9.	Sorghum	50	13	650
10.	Red and white beans	50	15	750
11.	Transportation cost	2	200	400
1.	Guardians and security	10(x 3 days)	30	1,500
2.	Staff of the project	3(x 20 days)	40	2,400
3.	Program leader	1(x 6 months)	100	6,500
4.	Program documentation material/stationary (forms, pens, note books etc.)	Materials		2,300
	Cars fuels	20 liters (x120days)	0.8	1,920
	Total			\$40,670
	Risk cost		20%	\$8,134
	Grant total		100	\$48,804